SACC-E-M 8MS-4CON-M8/0,5 - ix

1500347
https://www.phoenixcontact.com/tw/products/1500347]

B

EZRR W

mPHGNIX
CONTACT

AR APDF XEFETHENRKBREMNRLEZES. TRENFZREAENE, TERLAAETEMN —RERRRRIES.

REEER WITRE , 4-E , fNEL, BX, M8, RATRE , M8x 05, Bk  BYgKE:

0.5m, 0.25mm

EHES

- TRFHL , MR

« BERNFUEKELTES

- PEEMEH  BRESM

« ATESERNESIMS BN EERD , RAS IR

ERER
ST
fraa s
BIETHE
HEmRT
EREH
BEEE
GTIN
SHNER (2EE)
SHNER (T2A%)
BRRERS
Bt

2, PVCX %%

1500347
1 H5&

148

02

ABQIAA

H1§ 33 (C-2-2019)
4017918589080
13.08 g

1149 g

85366990

DE

2024F6H27H £47:49

Bi51(8)


https://www.phoenixcontact.com/zh-tw/products/device-connector-front-mounting-sacc-e-m-8ms-4con-m8-05-1500347?utm_source=pdf&utm_medium=pdf

SACC-E-M 8MS-4CON-M8/0,5 - ix

1500347

https://www.phoenixcontact.com/tw/products/1500347]

&R

B

REK

fi#

FmEt
=R
fr2
H& O RS
B
]
By

Ci SRR
T ER
IRER

MR
FAMER , FEUL 94
EHMH
EAb R
MEHERRE
FE AR S AR
SR4TIE M

B
METBE
T
7P L)
MELE U,

HE ST,

BASLEHR
TR

EERR
Al RSEE
SELEBE
REHRE

LR 3

EBEER AT R

%

H

el M8 x 0.5

it
A

EfERESR (REN )

HB

Viton
CUa®

Au

PA 6.6
HRE
EHMEL

1.5kV
<3 mQ
= 100 MQ
48 V AC
60V DC
4 A

80 Q/km

B
0.25 mm?
0.8 Nm ... 1 Nm (&%)

PHCENIX
CONTACT

2024F6H27H £47:49

Hi52(8)


https://www.phoenixcontact.com/zh-tw/products/device-connector-front-mounting-sacc-e-m-8ms-4con-m8-05-1500347?utm_source=pdf&utm_medium=pdf

SACC-E-M 8MS-4CON-M8/0,5 - g & iE#as Al B3 PHCENIX
CONTACT

1500347

https://www.phoenixcontact.com/tw/products/1500347]

HEE
BRI @k
AL [EBS
BB KA M8
B4/
HEKE 0.5m
b otk Eiil PVCR &4
KR AELEE 1.5 mm 0.1 mm
B HE e, At Be, e
BAEHER 0.25 mm?
S&H EBHERE
S8 &0 B 7x 0.20 mm
AWG , E5% 24
SLLEEMHE PVC /UL
BE , 4% 0.21 mm
B RFREE 300V
B4 i B 2000 V AC
B 45 EapE > 80 Q/km
BB 46 48 45 £ fH =20 MQ*km
FERE (E17) -40°C ... 105 °C (B4 , IR EE)
410 °C ... 105 °C (B4 , SEHRNRE)
HIBEMER &M
78 E 30
RIFER IP67
P67
HERE (1E17) -25°C ... 85 °C ($t=/A.R)
-40°C ... 105 °C (&4 , BERNE%)
-10 °C ... 105 °C (B4 , SEFH R Z%)
FRAERAE
M8
FRAEARIR M8&t = il Sk iE 2R
PR IEC 61076-2-104

2024%6H27H L47:49 HiE3(8)


https://www.phoenixcontact.com/zh-tw/products/device-connector-front-mounting-sacc-e-m-8ms-4con-m8-05-1500347?utm_source=pdf&utm_medium=pdf

SACC-E-M 8MS-4CON-M8/0,5 - g & iE#as Al B3 PHCENIX

CONTACT
1500347
https://www.phoenixcontact.com/tw/products/1500341
& 4
B E
C
1 P | BN
2 . WH
4 - : BK
3 _ ! BU
L ]
~EH

MBS E , 478, FAMAE

2024 6H27H L47:49 HiE4(8)


https://www.phoenixcontact.com/zh-tw/products/device-connector-front-mounting-sacc-e-m-8ms-4con-m8-05-1500347?utm_source=pdf&utm_medium=pdf

SACC-E-M 8MS-4CON-M8/0,5 - g & iE#as Al B3 mPHGNIX
CONTACT

1500347
https://www.phoenixcontact.com/tw/products/1500347]

Bt

¢ To download certificates, visit the product detail page: https://www.phoenixcontact.com/tw/products/1500347

£-\Y cUL Recognized
A ID: E221474-20070307

HEEEE U, ERER |, BBE - £HeH HEE mm?
30V 4 A - -

-\ UL Recognized
B ID: E221474-20070307

HEER Uy BRER |\ BEE - ZERHA BBE mm’
30V 4A - -

cULus Recognized

2024 6H27H L4749 HIE5(8)


https://www.phoenixcontact.com/zh-tw/products/device-connector-front-mounting-sacc-e-m-8ms-4con-m8-05-1500347?utm_source=pdf&utm_medium=pdf#approvals-link-target
https://www.phoenixcontact.com/zh-tw/products/device-connector-front-mounting-sacc-e-m-8ms-4con-m8-05-1500347?utm_source=pdf&utm_medium=pdf

SACC-E-M 8MS-4CON-M8/0,5 - g & iE#as Al B3 mPHGNIX
CONTACT

1500347

https://www.phoenixcontact.com/tw/products/1500347]

98
ECLASS
ECLASS-11.0 27440102
ECLASS-12.0 27440116
ECLASS-13.0 27440116
ETIM
ETIM 9.0 EC002635
UNSPSC
UNSPSC 21.0 39121400

2024 6H27H L4749 HiE6(8)


https://www.phoenixcontact.com/zh-tw/products/device-connector-front-mounting-sacc-e-m-8ms-4con-m8-05-1500347?utm_source=pdf&utm_medium=pdf

SACC-E-M 8MS-4CON-M8/0,5 - ix

1500347

https://www.phoenixcontact.com/tw/products/1500347]

Environmental product compliance

EU RoHS
& (B2 RoHS NEEFER)
Bl EHNE#R

China RoHS

Environment friendly use period (EFUP)

EU REACH SVHC
(REACH {RZ¥HEKEE) ( CASHRER )
SCIP

HEERR AR R PHCENIX

CONTACT

6(c)

EFUP-50

ERMBNTE RoHS HX , HSNEERTHARN 1
WEY, . A% EFUP-E BRWER  H\HE RoHS HER
 BRRELE.

Lead ( CAS#®S%: 7439-92-1 )
9bfoabc3-8637-48b9-aa5e-9beb8c6072e0

2024 6H27H L4749 HIE7 (8)


https://www.phoenixcontact.com/zh-tw/products/device-connector-front-mounting-sacc-e-m-8ms-4con-m8-05-1500347?utm_source=pdf&utm_medium=pdf

SACC-E-M 8MS-4CON-M8/0,5 - g & iE#as Al B3 mPHGNIX
CONTACT

1500347
https://www.phoenixcontact.com/tw/products/1500347]

B

SACC-E-MU-M8X0,5 - mFIE &

1504071

https://www.phoenixcontact.com/tw/products/150407 1|

REIER | IBERE , M8 x 0.5, FRABFAROHS II3E#K6C (Pb<0.1 %) FEH

FERHER 2024 © - REFTERER

https://www.phoenixcontact.com

FREHERAT
11560 AL EE=E% 66 3 3 B = (MARNER)

02 2785 2155
taiwan@phoenixcontact.com.tw

2024 6H27H L47:49 HiE 8 (8)


https://www.phoenixcontact.com/zh-tw/products/flat-nut-sacc-e-mu-m8x05-1504071?utm_source=pdf&utm_medium=pdf
https://www.phoenixcontact.com/zh-tw/products/device-connector-front-mounting-sacc-e-m-8ms-4con-m8-05-1500347?utm_source=pdf&utm_medium=pdf

